Seating System Armrests IPB,
International



|Ilustrated Parts Breakdown.
Y

USA - Quantum Rehab
401 York Avenue

Duryea, Pa 18642
www.quantumrehab.com

USA - Pride Mobility Products Corp.
182 Susquehanna Avenue

Exeter, Pa 18643

www.pridemobility.com

Canada

5096 South Service Road
Beamsyville, Ontario LOR 1B3
www.pridemobility.ca
www.quantumrehab.com

Australia

20-24 Apollo Drive

Hallam, Victoria 3803
www.pridemobility.com.au
www.quantumrehab.com.au

New Zealand

38 Lansford Crescent
Avondale, Auckland 0600
www.pridemobility.co.nz

UK

32 Wedgwood Road

Bicester, Oxfordshire OX26 4UL
www.pride-mobility.co.uk
www.quantumrehab.co.uk

PRIDC

M OB 1 LI TY
LIVE YOUR BEST®

QUANTUM®

Netherlands

(Authorised EU Representative)
De Zwaan 3

1601 MS Enkhuizen
www.pridemobility.eu
www.quantumrehab.eu

Italy

Via del Progresso, ang. Via del Lavoro
Loc. Prato della Corte

00065 Fiano Romano (RM)
www.pride-italia.it
www.quantumrehab-italia.it

France

26 Rue Monseigneur Ancel
69800 Saint-Priest
www.pridemobility.fr
www.quantumrehab.fr

Spain

Calle Las Minas Numero 67

Poligono Industrial Urtinsa ll, de Alcorcén
28923 Madrid

Germany
Hovelrieger Str. 28
33161 Hovelhof

China

Room 508, Building #4
TianNa Business Zone
No. 500 Jianyun Road
Pudong New Area
Shanghai 201318

www.pridemobility.com Q 0 Q www.quantumrehab.com



2.1. Back Cane Mounted, Flip-up Arms
Desk Length, Left / Right, Flip Up Armrest, Textured . . ... ... ... e e e e e
Full Length, Left / Right, Flip Up Armrest, Textured . . . . ... ... e e e e e e e e
Back Center Tube - 13"W-24"W, Textured . . . . .. .. . . e e e e e e e
ApPendixX Al Pages INeX . . . . .. e
Appendix B:Parts Index



Desk Length, Left / Right, Flip Up Armrest, Textured

vvvvvvvv

2.1. Back Cane Mounted, Flip-up Arms

*** Only items with callouts are available for replacement. ***

Right

_@

Complete Left Armrest Assy, Flip-Up Desk Length

Left

@ --m0

\

\

777

7

e o & o

S & o o o & & & 5 ° & & °
P o 2 @ @ o o o o o o o o @

Both assemblies contain identical parts. There are left and right sides for assembly purposes.

2.1. Back Cane Mounted, Flip-up Arms

Export Date: Tue Sep 08 21:03:59 UTC 2020



Desk Length, Left / Right, Flip Up Armrest, Textured

PRIDC
Item Part No. Name Qty
A1 SETLRAM1115 ARMREST,PAD,SHORT,QUANTUM,V2 1
B1 SETLRAM1164 ARMPAD,ASSY,WATERFALL,BLACK,9", DESK LENGTH 1
c1 FRMASMB7041 ARMREST,ASSY,FLIP-UP,DESK LENGTH,SYNERGY/VERSA TILT,RIGHT, TEXTURED 1
D1 FRMASMB7040 ARMREST,ASSY,FLIP-UP,DESK LENGTH,SYNERGY/VERSA TILT,LEFT,TEXTURED 1
E1 PROECAP1029 END CAP,PLASTIC,1.25" DIA,FITS 11 GAUGE TUBE,RIBBED,C-1005-058 1
F1 SCRASBH1053 SCREW,BHSCS,BLACK ZINC,10-32 X 1.25" 2
G1 BLTASHL1017 BOLT,SHOULDER,1/2" X 1.50" 1
H1 FRMASMB7042 ARMREST,ASSY,STOP BRACKET,FLIP-UP ARMREST,SYNERGY/VERSA TILT, TEXTURED 1
" FRMASMB7045 MOUNT BRACKET,ASSY,CLAMP,FLIP-UP ARMREST,SYNERGY/VERSA TILT, TEXTURED 1
J1 BACK PLATE BRACKET,T-SLOT,1",C-1359-005 2
K1 SCRASBH1148 SCREW,BHSCS,BLACK ZINC,1/4-20 X 0.50",W/PATCH 2
L1 DWR1359B003 T-NUT,BLACK,1/4-20 X 0.563",0.50" TH,B-1359-003 2
M1 SCRSHFH1010 SCREW,SHFH,BLACK ZINC,1/4-20 X 0.75" 2
N1 PROECAP1029 END CAP,PLASTIC,1.25" DIA,FITS 11 GAUGE TUBE,RIBBED,C-1005-058 1
o1 WASWAVY 1007 WASHER,BELLEVILLE,0.515" ID X 1.00" OD X 0.035" TH 1

2.1. Back Cane Mounted, Flip-up Arms

Export Date: Tue Sep 08 21:03:59 UTC 2020



Full Length, Left / Right, Flip Up Armrest, Textured

vvvvvvvv

2.1. Back Cane Mounted, Flip-up Arms

*** Only items with callouts are available for replacement. ***

Right

)
/

© 6 0 0 00000000000 0 0

Left

7

e o o o

S e ° o o & & ° o ° & ° &

b 2 2 2 26 06 o o 6 06 o o o o

Both assemblies contain identical parts. There are left and right sides for assembly purposes.

2.1. Back Cane Mounted, Flip-up Arms

Export Date: Tue Sep 08 21:03:59 UTC 2020



Full Length, Left / Right, Flip Up Armrest, Textured

PRIDC
Item Part No. Name Qty
A1 SETLRAM1116 ARMREST,PAD,LONG,QUANTUM,V2 1
B1 SETLRAM1165 ARMPAD,ASSY,WATERFALL,BLACK,14", FULL LENGTH 1
c1 FRMASMB7039 ARMREST,ASSY,FLIP-UP,FULL LENGTH,SYNERGY/VERSA TILT,RIGHT, TEXTURED 1
D1 FRMASMB7038 ARMREST,ASSY,FLIP-UP,FULL LENGTH,SYNERGY/VERSA TILT,LEFT,TEXTURED 1
E1 PROECAP1029 END CAP,PLASTIC,1.25" DIA,FITS 11 GAUGE TUBE,RIBBED,C-1005-058 1
F1 SCRASBH1053 SCREW,BHSCS,BLACK ZINC,10-32 X 1.25" 2
G1 BLTASHL1017 BOLT,SHOULDER,1/2" X 1.50" 1
H1 FRMASMB7042 ARMREST,ASSY,STOP BRACKET,FLIP-UP ARMREST,SYNERGY/VERSA TILT, TEXTURED 1
" FRMASMB7045 MOUNT BRACKET,ASSY,CLAMP,FLIP-UP ARMREST,SYNERGY/VERSA TILT, TEXTURED 1
J1 BACK PLATE BRACKET,T-SLOT,1",C-1359-005 2
K1 SCRASBH1148 SCREW,BHSCS,BLACK ZINC,1/4-20 X 0.50",W/PATCH 2
L1 DWR1359B003 T-NUT,BLACK,1/4-20 X 0.563",0.50" TH,B-1359-003 2
M1 SCRSHFH1010 SCREW,SHFH,BLACK ZINC,1/4-20 X 0.75" 2
N1 PROECAP1029 END CAP,PLASTIC,1.25" DIA,FITS 11 GAUGE TUBE,RIBBED,C-1005-058 1
o1 WASWAVY 1007 WASHER,BELLEVILLE,0.515" ID X 1.00" OD X 0.035" TH 1

2.1. Back Cane Mounted, Flip-up Arms

Export Date: Tue Sep 08 21:03:59 UTC 2020



Back Center Tube - 13"W-24"W, Textured

PRIDC
2.1. Back Cane Mounted, Flip-up Arms
*** Individual components are not available for replacement.
The entire assembly must be purchased. ***
\
° Complete Back Center Tube Assembly 14"-20" Width
®
Complete Back Center Tube Assembly 20"-24" Width
2.1. Back Cane Mounted, Flip-up Arms Export Date: Tue Sep 08 21:04:00 UTC 2020



Back Center Tube - 13"W-24"W, Textured

PRIDC
Item Part No. Name Qty
Ala FRMASMB6600 BACK CENTER TUBE,ASSY,13"-20"W,SYNERGY,FLIP-UP ARMREST 1
A1b FRMASMB6601 BACK CENTER TUBE,ASSY,20"-24"W,SYNERGY,FLIP-UP ARMREST 1
2.1. Back Cane Mounted, Flip-up Arms Export Date: Tue Sep 08 21:04:00 UTC 2020




........

Appendix A:Pages Index
Back Center Tube - 13"W-24"W, Textured ......................

Desk Length, Left / Right, Flip Up Armrest, Textured
Full Length, Left / Right, Flip Up Armrest, Textured

2.1. Back Cane Mounted, Flip-up Arms

Export Date: Tue Sep 08 21:04:00 UTC 2020



vvvvvvvv

Appendix B:Parts Index

BLTASHL1017 ... 2,4
DWR1359B003 . ... .. . 2,4
DWR1359C005 ... ... . 2,4
FRMASMBG6600 . ........ ... .. .. 6
FRMASMBG6601 . ... ... . . . i 6
FRMASMBT7038 . ... ... . .. i i 4
FRMASMBT7039 . ... ... . .. i i 4
FRMASMBT7040 . ... ... . ... i i 2
FRMASMBT7041 . .. .. . e 2
FRMASMBT7042 . ... ... . .. i 2,4
FRMASMBT7045 . ... .. .. . . i 2,4
PROECAP1029 .. ... .. ... . ... .. 2,2,4,4
SCRASBHT053 . ... . . 2,4
SCRASBHT148 . . ... . . 2,4
SCRSHFH1010 ... ... . 2,4
SETLRAMTI1S L 2
SETLRAMTT16 . ... 4
SETLRAMT164 . . .. 2
SETLRAMTIBS . ... . 4
WASWAVY1007 ... 2,4

2.1. Back Cane Mounted, Flip-up Arms

Export Date: Tue Sep 08 21:04:00 UTC 2020



PRIDC

M OB 1 LI TY
LIVE YOUR BEST®

|Ilustrated Parts Breakdown QUANTUM®

USA - Quantum Rehab
401 York Avenue

Duryea, Pa 18642
www.quantumrehab.com

USA - Pride Mobility Products Corp.

182 Susquehanna Avenue
Exeter, Pa 18643
www.pridemobility.com

Canada

5096 South Service Road
Beamsyville, Ontario LOR 1B3
www.pridemobility.ca
www.quantumrehab.com

Australia

20-24 Apollo Drive

Hallam, Victoria 3803
www.pridemobility.com.au
www.quantumrehab.com.au

New Zealand

38 Lansford Crescent
Avondale, Auckland 0600
www.pridemobility.co.nz

UK

32 Wedgwood Road

Bicester, Oxfordshire OX26 4UL
www.pride-mobility.co.uk
www.quantumrehab.co.uk

Netherlands

(Authorised EU Representative)
De Zwaan 3

1601 MS Enkhuizen
www.pridemobility.eu
www.quantumrehab.eu

Italy

Via del Progresso, ang. Via del Lavoro
Loc. Prato della Corte

00065 Fiano Romano (RM)
www.pride-italia.it
www.quantumrehab-italia.it

France

26 Rue Monseigneur Ancel
69800 Saint-Priest
www.pridemobility.fr
www.quantumrehab.fr

Spain
Calle Las Minas NUmero 67

Poligono Industrial Urtinsa ll, de Alcorcén

28923 Madrid

Germany
Hovelrieger Str. 28
33161 Hovelhof
www.pridemobility.de

China

Room 508, Building #4
TianNa Business Zone
No. 500 Jianyun Road
Pudong New Area
Shanghai 201318

www.pridemobility.com Q 0 Q www.quantumrehab.com



	2.1. Back Cane Mounted, Flip-up Arms
	Desk Length, Left / Right, Flip Up Armrest, Textured
	Full Length, Left / Right, Flip Up Armrest, Textured
	Back Center Tube - 13"W-24"W, Textured

	Appendix A:Pages Index
	Appendix B:Parts Index

